
DAC LGN M CV VAN 07-12
DAC LGN M CV VAN 13-

LAD LRGS VAN 12-

ASSEMBLY INSTRUCTIONS (ROOF RAIL)

Product Code: MR01005 (Crown)

M
R

01
00

5 
/ 

R
ev

.0
1 

/ 
28

.0
2.

20
22

 (K
R

ST
)

www.canotomot�v.com.tr / turtlecancarry.com / canauto.store /canauto.ru
Vel�köy OSB 4. Cadde No:20/A Çerkezköy/TEKIRDAĞ
CAN OTOMOTİV İNŞ. İTH. İHR. SAN. VE TİC. LTD. ŞTİ.

+90 282 746 1320 �nfo@canotomot�v.com.tr

FIRST TIME INSTALLATION
* REMOVE PARTS FROM INSIDE THE PACKAGE AND CHECK THEM ALL

* CONTACT YOUR DEALER IF ANY PART IS MISSING OR DAMAGED
* USE THE EQUIPMENT SPECIFIED FOR INSTALLATION

LEFT (SOL)

RIGHT (SAĞ)

PLASTIC STOPPLE
M8x25 INBUS BOLT
M8x55 INBUS BOLT
M8x45 INBUS BOLT
M8 1/2 WASHER
6MM ALLEN WRENCH

1-
2-
3-
4-
5-
6-

6
2
2
2
6
1

NO PART DESCRIPTION QTY

1

4

5

6

1

4

5

1

3

5

1

3

5
1

2

5

1

2

5


